* Change engine oil.
* Change engine oil filter.
* Check all fluids.

* Complete grease.

Work Order:

10009

Equipment:

Work Location: Created by:

Carla Merklin

Kms:

8273 8399

Hr:

D6T LGP CAT DOZER (GPS) [7858] Rocky Mountain House Shop

Status: Serial Number: Transferred CAT00D6TIMH700639

Business Unit:

Start Date: Stop Date:

Machinery

4/14/2020 4/17/2020

0.00

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
RYAN BERRY	5.00 RT	Shop Mech Field	\$54.00	\$270.00
			Total Labor	\$270.00
			Total Parts	\$0.00
			Total Equip	\$0.00
		-	Total Cost	\$270.00

Item ID	Description	Completed By	Reported Hours
17307	7858 - NO START		5.00
Work Orde	er: 12769	Status:	Transferred
Equipment	D6T LGP CAT DOZER (GPS) [7858]	Serial Number:	CAT00D6TIMH700639
Work Loca	tion:	Business Unit:	Machinery
Created by	Brent Thring	Start Date:	
Kms:	8273	Stop Date:	
Hr:	8399		

Work Order Cost Summary

7858-DIRECT BILL

21390

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
BATTERY GROUP 4D 12V 1050CCA - CORE {MNC MS4D1250M} [904DCORE]	2.00 Each	\$62.70	\$125.39
BATTERY GROUP 4D 12V 1050CCA {MNC MS4D1250M} [904D]	2.00 Each	\$196.30	\$392.60
CORNER BIT [9W8874]	1.00 Each	\$68.00	\$68.00
CORNER BIT [9W8875]	1.00 Each	\$68.00	\$68.00
		Total Parts	\$653.99
		Total Equip	\$0.00
		Total Cost	\$653.99
Item ID Description	Completed By	Reported Hour	S

14388

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Brian MacDonald

Kms: Hr:

8273 8399

Status:

Serial Number:

Transferred CAT00D6TIMH700639

Machinery

Business Unit: Start Date: Stop Date:

8/10/2020 8/10/2020

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
BRIAN MACDONALD	11.50 RT	Shop Mech Field	\$54.00	\$621.00
			Total Labor	\$621.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$621.00

Notes: Stopped at North well yard weld out broken track drive bolts

Item ID	Description	Completed By	Reported Hours
23132	CRY SHEET 06-19-20	Marvin Feddema	11.50
DEF COD	E		

Work Order:

14733

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

SHELL FC 742 11.22.64.22.5

Created by:

Carla Merklin

Kms: Hr:

8273

8399

Status:

Serial Number:

Business Unit: Start Date:

Stop Date:

Machinery 8/25/2020

8/27/2020

Transferred

CAT00D6TIMH700639

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
ARM ASSY [1510254]	1.00 Each	\$45.76	\$45.76
WIPER BLADE [6V5849]	1.00 Each	\$38.85	\$38.85
		Total Parts	\$84.61
		Total Equip	\$0.00
		Total Cost	\$84.61

Item ID	Description	Completed By	Reported Hours
24681	CRY SHEET 08-25-20	Brian MacDonald	0.00
MISSING	WIPER ASSEMBLY PASSENGER SIDE		

15001

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

SHELL FC 742 11.22.64.22.5

Created by:

Carla Merklin

Kms: Hr:

8273

8399

Status:

Transferred CAT00D6TIMH700639

Serial Number:

Business Unit:

Machinery

Start Date:

8/31/2020

Stop Date:

9/3/2020

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	8.50 RT	Shop Lube	\$38.00	\$323.00
			Total Labor	\$323.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$323.00

Item ID	Description	Completed By	Reported Hours
24590	0500 Hour Service	Carla Merklin	8.50

- * Change engine oil.

 * Change all filters.

 * Check pivot shaft oil.

 * Check et all distributed bar oil.

- * Check all fluids.

 * Complete grease.

 * Sample all oils.

16166

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

SHELL FC 742 11.22.64.22.5

Created by:

Trace Pidherney

Kms: Hr:

8273 8399

Status:

Serial Number:

Transferred CAT00D6TIMH700639 Machinery

Business Unit: Start Date:

12/9/2020

Stop Date:

12/9/2020

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	6.00 RT	Shop Lube	\$38.00	\$228.00
			Total Labor	\$228.00
ENGINE LUBE FILTER [2444484 {xr LF691A}]	1.00 Each	l	\$41.27	\$41.27
			Total Parts	\$41.27
			Total Equip	\$0.00
	- 		Total Cost	\$269.27

Notes: finals changed

Item ID	Description	Completed By	Reported Hours
27652	0250 Hour Service	Anthony Rodriguez	6.00

- * Change engine oil.
- * Change engine oil filter.
- * Check all fluids.
- * Complete grease.

Work Order:

17557

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

NORTHWELL RACK SITE FOX CREEK

Created by:

Kms: Hr:

8273 8399

Brian MacDonald

Stop Date:

Status:

Serial Number:

Business Unit:

Start Date:

Transferred CAT00D6TIMH700639

Machinery 12/10/2020

12/10/2020

Description	Quantity	Labor Type	Rate	Total
BRIAN MACDONALD	10.00 RT	Shop Mech Field	\$54.00	\$540.00
			Total Labor	\$540.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$540.00

Item ID	Description	Completed By	Reported Hours
30547	70E9 chook ever		
30347	7858 check over	Carla Merklin	10.00

17844

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms:

8273 8399

Hr:

Status:

Serial Number:

Transferred CAT00D6TIMH700639

Business Unit:

Start Date:

Machinery 1/7/2021

Stop Date:

1/11/2021

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
BRIAN MACDONALD	3.50 RT	Shop Mech Field	\$54.00	\$189.00
			Total Labor	\$189.00
SNAP RING 3-13/16 INT RETAINING RING [N1300-0281]	4.00 Each		\$5.95	\$23.80
SPHERICAL PLAIN BEARING [GE50ES2RS {xr 8T0333}]	2.00 Each	1	\$22.90	\$45.80
			Total Parts	\$69.60
			Total Equip	\$0,00
			Total Cost	\$258.60

Item ID	Description	Completed By	Reported Hours
31164	7858 - pitch link repairs	Brian MacDonald	3.50

Work Order: **Equipment:**

Hr:

18120

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by: Kms:

8273 8399

Carla Merklin

Status: Serial Number:

Business Unit: Start Date: Stop Date:

Anthony Rodriguez

Transferred

CAT00D6TIMH700639 Machinery 1/21/2021

1/28/2021

5.00

Description	Quantity Labor Type	Rate	Total
ANTHONY RODRIGUEZ	5.00 RT Shop Lube	\$38.00	\$190.00
		Total Labor	\$190.00
AIR FILTER [5771435]	1.00 Each	\$95.20	\$95.20
EMENT ASSY [3318108]	1.00 Each	\$39.94	\$39.94
		Total Parts	\$135.14
		Total Equip	\$0.00
	The state of the s	Total Cost	\$325.14
Item ID Description	Completed By	Reported Hour	<u> </u>

Item ID	Description	Completed By	Reported Hours
31595	1000 Hour Service	Anthony Rodriguez	5.00

- * Change all filters.
- * Change engine oil.
- * Change transmission oil.
- * Change final drive oils.
- * Change winch oil (if applicable).
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

18836

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Marvin Feddema

Kms: Hr: 8273 8399 Status:

_

Serial Number:

Transferred CAT00D6TIMH700639

Business Unit: Start Date: Machinery 2/28/2021

Stop Date:

2/28/2021 3/5/2021

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JASON HOLLINGSWORTH	2.00 RT	Shop Mech Field	\$54.00	\$108.00
			Total Labor	\$108.00
BALL [8T2275]	1.00 Each		\$0.53	\$0.53
GASKET [9H6454]	1.00 Each	1	\$3.71	\$3.71
PLATE [2D4202]	1.00 Each	l	\$11.70	\$11.70
			Total Parts	\$15.94
			Total Equip	\$0.00
			Total Cost	\$123. 9 4

Notes: 7858 check over for Stuart pit

Item ID	Description	Completed By	Reported Hours
32326	CRY SHEET 02-03-21	Carla Merklin	2,00
WYATT: F	PACKING LEFT ANGLE CYLINDER SMALL WEEP, CORK	S NEED REPLACED, WINCH LINE FRAYED END TIED	BACK

Work Order: Equipment: 19162

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Brian MacDonald

Kms: Hr: 8273 8399 Status:

Serial Number:

Business Unit:

Start Date: Stop Date: Transferred CAT00D6TIMH700639

Machinery 3/11/2021

3/11/2021

Description	Quantity	Labor Type	Rate	Totai
BRIAN MACDONALD	1.50 RT	Shop Mech Field	\$54.00	\$81.00
			Total Labor	\$81.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$81.00

Item ID	Description	Completed By	Reported Hours
33958	7858 hyd. cap	Carla Merklin	1.50

19677

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Kms: Hr:

8273 8399

Carla Merklin

Start Date: Stop Date:

Serial Number:

Business Unit:

Status:

Transferred

CAT00D6TIMH700639

Machinery 4/6/2021 4/6/2021

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	2.00 RT	Shop Lube	\$38.00	\$76.00
			Total Labor	\$76.00
			Total Parts	\$0.00
			Total Equip	\$0.00
-			Total Cost	\$76.00

Item ID	Description	Completed By	Reported Hours
33968	0250 Hour Service	Carla Merklin	2.00

* Change engine oil.

* Change engine oil filter. * Check all fluids.

* Complete grease.

Work Order: **Equipment:**

19761

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by: Kms:

Brian MacDonald 8273

Hr:

8399

Status:

Serial Number:

Business Unit:

Start Date: **Stop Date:**

Transferred

CAT00D6TIMH700639

Machinery 4/8/2021 4/8/2021

Description	Quantity	Labor Type	Rate	Total
BRIAN MACDONALD	2.00 RT	Shop Mech Field	\$54.00	\$108.00
TEVIN FERRIS	13.00 RT	Shop Mech Field	\$54,00	\$702.00
			Total Labor	\$810.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$810.00

Notes:	R&r segments
Item ID	Description

Item ID	Description	Completed By	Reported Hours
35423	7858 check over	Marvin Feddema	15.00

21051

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

8273 8399

Status:

Serial Number:

Transferred CAT00D6TIMH700639

Business Unit:

Machinery

Start Date: Stop Date: 6/2/2021 6/11/2021

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
AARON SAMUELSON	10.50 RT	Shop Mech Field	\$54.00	\$567.00
ALLAN SUTHERLAND	2.50 RT	Shop Mech Field	\$54.00	\$135.00
JOHN BARGEN	9.50 RT	Shop Mech Field	\$54.00	\$513.00
RYAN BERRY	6.00 RT	Shop Mech Field	\$54.00	\$324.00
			Total Labor	\$1,539.00
CAM-LATCH - RAD COVER [2750571]	1.00 Each	<u> </u>	\$3.32	\$3.32
LATCH [3716434]	1.00 Each	1	\$31.88	\$31.88
			Total Parts	\$35.20
			Total Equip	\$0.00
			Total Cost	\$1,574.20

Notes:

replaced track groups with Trek rails.

Went through unit found winch line no good first 4ft cut it off installed hook back on. Flipped cutting edge. Fixed seat belt would not go in. Topped up hydraulic oil and coolant. Order battery disconnect latch.

Item ID	Description		Completed By	Reported Hours
38091	7858 - undercarriage		Marvin Feddema	28.50
Work Orde	: 22278		Status:	Transferred
Equipment	D6T LGP (CAT DOZER (GPS) [7858]	Serial Number:	CAT00D6TIMH700639
Work Local	ion: Current E	quipment Location	Business Unit:	Machinery
Created by	Carla Mer	klin	Start Date:	7/16/2021
Kms:	8273		Stop Date:	7/22/2021
Hr:	8399		·	• •

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	2.00 RT	Shop Lube	\$38.00	\$76.00
			Total Labor	\$76.00
TRACK BOLT [9S1838]	8.00 Each		\$3.86	\$30.88
			Total Parts	\$30.88
			Total Equip	\$0.00
			Total Cost	\$106.88

Item ID	Description	Completed By	Reported Hours
39737	0500 Hour Service	Carla Merklin	2.00

- * Change engine oil.
 * Change all filters.
 * Check pivot shaft oil.
 * Check equalizer bar oil.
 * Check all fluids.
- * Complete grease. * Sample all oils.

23088

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

8273 8399 Status:

Serial Number:

Business Unit:

Start Date: Stop Date:

Transferred CAT00D6TIMH700639

Machinery

8/13/2021

8/31/2021

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	4.00 RT	Shop Lube	\$38.00	\$152.00
			Total Labor	\$152.00
			Total Parts	\$0.00
			Total Equip	\$0.00
		 .	Total Cost	\$152.00

Item ID	Description	Completed By	Reported Hours
41676	0250 Hour Service	Carla Merklin	4.00

- * Change engine oil.
 * Change engine filters -- oil and air.
 * Check all fluids.
- * Complete grease.

24471

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms:

8273

Hr: 8399 Status:

Serial Number:

Transferred CAT00D6TIMH700639

Business Unit:

Machinery

Start Date: Stop Date:

9/29/2021 10/2/2021

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	5.00 RT	Shop Lube	\$38.00	\$190.00
			Total Labor	\$190.00
Primary AIR FILTER [5771435 {xr P635779}]	1.00 Each	1	\$92.68	\$92.68
			Total Parts	\$92.68
			Total Equip	\$0.00
			Total Cost	\$282.68

Item ID	Description	Completed By	Reported Hours
43983	1000 Hour Service	Anthony Rodriguez	5.00

- * Change all filters.
- * Change engine oil.
- * Change transmission oil.
- * Change final drive oils.
- * Change winch oil (if applicable).
- * Check pivot shaft oil.
- * Check equalizer bar oil. * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: **Equipment:**

24880

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by: Kms:

Carla Merklin

Hr:

8273 8399 Status:

Serial Number:

Transferred

Business Unit:

Start Date:

Machinery

CAT00D6TIMH700639

Stop Date:

10/14/2021

10/14/2021

Description	Quantity	Labor Type	Rate	Total
TEVEN MICKLEBORO	2.00 RT	Shop Lube	\$38.00	\$76.00
			Total Labor	\$76.00
FILTER - ELEMENT (CAT) [1261813]	1.00 Each		\$30.30	\$30.30
HYD FILTER (4656504)	1.00 Each	I	\$24.48	\$24.48
			Total Parts	\$54.78
			Total Equip	\$0.00
			Total Cost	\$130.78

Item ID	Description	Completed By	Reported Hours
45605	7858 - hydraulic oil change	Carla Merklin	2.00

24907

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

8273 8399

Status:

Serial Number:

CAT00D6TIMH700639 Machinery

Business Unit: Start Date:

10/14/2021

Transferred

Stop Date:

10/14/2021

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JOHN GIBERSON	15.00 RT	Shop Mech Rky	\$50.00	\$750.00
			Total Labor	\$750.00
BOLT - 2 1/4 X 5/8 USE WITH 2S5658 AND 7H3607 [6V0937]	2.00 Each		\$1.13	\$2.25
BOLT - 2 1/4 X 5/8 USE WITH 2S5658 AND 7H3607 [6V0937]	2.00 Each		\$1.13	\$2,25
BOLT [8T4195]	4.00 Each		\$1.14	\$4.56
CLIP [3G8054]	2.00 Each		\$12.42	\$24.84
CLIP [3G8057]	2.00 Each		\$14.93	\$29.86
GROMMET [3G8047]	1.00 Each		\$186.06	\$186.06
GROMMET [6V0974]	2.00 Each		\$60.34	\$120.68
HARNESS [3930728]	1.00 Each		\$354.83	\$354.83
NUT - HEX [7H3607]	2.00 Each		\$0.88	\$1.76
NUT - HEX [7H3607]	2.00 Each		\$0.88	\$1.76
WASHER [2S5658]	2.00 Each		\$1.00	\$2.01
WASHER [2S5658]	2.00 Each		\$1.00	\$2.01
			Total Parts	\$732.87
	_	-	Total Equip	\$0.00
			Total Cost	\$1,482.87

Item ID Descri	otion	Completed By	Reported Hours
45638 7858 - 0	check over	Carla Merklin	15,00
Work Order:	25550	Status:	Transferred
Equipment:	D6T LGP CAT DOZER (GPS) [7858]	Serial Number:	CAT00D6TIMH700639
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	11/8/2021
Kms:	8273	Stop Date:	11/19/2021
Hr:	8399	- -	• •

Description	Quantity	Labor Type	Rate	Total
JOHN GIBERSON	7.50 RT	Shop Mech Rky	\$50.00	\$375.00
TREVOR IRONSIDE	4.00 RT	Shop Weld Field	\$54.00	\$216.00
			Total Labor	\$591.00
MNPT HH PLUG [01CP-2]	2.00 Each		\$0.28	\$0.57
			Total Parts	\$0.57
			Total Equip	\$0.00
			Total Cost	\$591.57

Item ID	Description	Commister	1 D	
	Description:	Completed	d By Reported Hours	
			,p	
		The state of the s		

26641

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

8399

8273

Status:

Serial Number:

Transferred CAT00D6TIMH700639

Business Unit:

Start Date:

Machinery 12/15/2021

Stop Date:

12/29/2021

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	1.50 RT	Shop Mech Field	\$54.00	\$81.00
JOHN GIBERSON	8.00 RT	Shop Mech Rky	\$50.00	\$400.00
			Total Labor	\$481.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$481.00

Item ID	Description	Completed By	Reported Hours
49147	7858 - boost	· Carla Merklin	9.50
Work Order	r: 27020	Status:	Transferred
Equipment:	D6T LGP CAT DOZER (GPS) [7858]	Serial Number:	CAT00D6TIMH700639
Work Locati	don: Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	1/11/2022
Kms:	8273	Stop Date:	1/14/2022
Hr:	8399		

Description	Quantity	Labor Type	Rate	Total
ARON SAMUELSON	6.00 RT	Shop Mech Field	\$54.00	\$324.00
			Total Labor	\$324.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$324.00

Item ID	Description	Completed By	Reported Hours
49863	7858 - start unit	Carla Merklin	6.00

27237

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

8273

Status:

Serial Number:

Transferred CAT00D6TIMH700639

Business Unit:

Machinery

Start Date: Stop Date: 1/21/2022 1/24/2022

8399

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
NTHONY RODRIGUEZ	2.00 RT	Shop Lube	\$38.00	\$76.00
			Total Labor	\$76.00
			Total Parts	\$0.00
			Total Equip	\$0.00
	·		Total Cost	\$76.00

Item ID	Description	Completed By	Reported Hours
50316	0250 Hour Service	Anthony Rodriguez	2,00

* Change engine oil.

* Change engine filters -- oil and air. * Check all fluids.

* Complete grease.

* Sample engine oil.

Work Order: **Equipment:**

28191

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

52289

8399

8273

Status:

Serial Number:

CAT00D6TIMH700639

Transferred

Business Unit: Start Date:

Machinery 2/15/2022

Stop Date:

Carla Merklin

2/28/2022

2.50

Work Order Cost Summary

7858 - check over

Description	Quantity Labor Type	Rate	Total
RYAN BERRY	2.50 RT Shop Mech Field	\$54.00	\$135.00
		Total Labor	\$135.00
BATTERY GROUP 4D 12V 1050CCA - CORE [904DCORE]	2.00 Each	\$46.63	\$93.27
BATTERY GROUP 4D 12V 1050CCA [904D]	2.00 Each	\$255.04	\$510.08
VENDOR BUILT HOSE [HOSE]	1.00 Each	\$36.57	\$36.57
		Total Parts	\$639.91
		Total Equip	\$0.00
		Total Cost	\$774.91
Item ID Description	Completed By	Reported Hour	s

30014

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

8273 8399 Status:

Serial Number:

Transferred CAT00D6TIMH700639

Business Unit:

Start Date:

Machinery 3/27/2022

Stop Date:

3/28/2022

Total Cost

\$134.54

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	0.50 RT	Shop Lube	\$38.00	\$19.00
			Total Labor	\$19.00
BOLT - 2 1/4 X 5/8 USE WITH 2S5658 AND 7H3607 [6V0937]	50.00 Each		\$1.35	\$67.40
NUT - HEX [7H3607]	49.00 Each		\$0.88	\$43.12
WASHER [2S5658]	5.00 Each		\$1.00	\$5.02
			Total Parts	\$115.54
			Total Equip	\$0.00

Item ID	Description	Completed By	Reported Hours
54945	7858 - resample engine oil	Carla Merklin	0,50
Work Orde	: 30204	Status:	Transferred
Equipment	D6T LGP CAT DOZER (GPS) [78	Serial Number:	CAT00D6TIMH700639
Work Locat	ion: Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	4/1/2022
Kms:	8273	Stop Date:	4/4/2022
Hr:	8399	·	

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	3.00 RT	Shop Mech Field	\$54.00	\$162.00
			Total Labor	\$162.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$162.00

Notes: remove, clean and reinstall with new bolts for segments Item ID Description **Completed By** Reported Hours 55381 7858 - clean sprocket segments Carla Merklin 3.00

30758

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

8273

8399

Status:

Serial Number:

Transferred CAT00D6TIMH700639

Business Unit:

Machinery

Start Date:

4/26/2022

Stop Date:

4/26/2022

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
HERMANN KUKOWSKI	10.50 RT	Shop Mech Field	\$54.00	\$567.00
			Total Labor	\$567.00
		<u> </u>	Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$567.00

Item ID	Description	Completed By	Reported Hours
56344	7858 - steering codes	Carla Merklin	10.50
Work Order:	31256	Status:	Transferred
Equipment:	D6T LGP CAT DOZER (GPS) [7858]	Serial Number:	CAT00D6TIMH700639
Work Location	: Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	5/11/2022
Kms:	8273	Stop Date:	5/12/2022
Hr:	8399	·	• •

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	4.00 RT	Shop Lube	\$38.00	\$152.00
			Total Labor	\$152.00
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$152.00

Item ID	Description	Completed By	Reported Hours
56323	0500 Hour Service	Anthony Rodriquez	4.00

- * Change engine oil.
 * Change all filters.
 * Check pivot shaft oil.
 * Check equalizer bar oil.
 * Check all fluids.
- * Complete grease.
- * Sample all oils.

31307

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms:

8273

Hr:

8399

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Transferred CAT00D6TIMH700639

Machinery

5/16/2022 5/16/2022

Description	Quantity	Labor Type	Rate	Total
DAVE HUNT	2.50 RT	Shop Mech Field	\$54.00	\$135.00
			Total Labor	\$135.00
CORNER BIT [9W8874]	1.00 Each		\$82.65	\$82.65
CORNER BIT [9W8875]	1.00 Each	1	\$82.65	\$82.65
CUTTING EDGE - D6RXW (UNIT #7626) [2296958]	2.00 Each	1	\$238.06	\$476.12
GROMMET[Custom]	2.00 Each	ı	(\$60.34)	(\$120.68)
		-	Total Parts	\$520.75
			Total Equip	\$0.00
			Total Cost	\$655.75

Item ID	Description	Completed By	Reported Hours
57439	7858 - cutting edges	Carla Merklin	2.50

31966

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

8273 8399

Status:

Serial Number:

Transferred CAT00D6TIMH700639

Business Unit: Start Date:

Machinery 6/7/2022

Stop Date:

6/8/2022

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
TEVEN MICKLEBORO	3.50 RT	Shop Lube	\$41.17	\$144.10
			Total Labor	\$144.10
SERPENTINE BELT [3493353]	1.00 Each	1	\$154.50	\$154.50
			Total Parts	\$154.50
			Total Equip	\$0.00
			Total Cost	\$298.60

Item ID	Description	Completed By	Reported Hours
58070	0250 Hour Service	Carla Merklin	3.50

* Change engine oil.

* Change engine filters -- oil and air.

* Check all fluids.

* Complete grease.

* Sample engine oil.

Work Order:

34379

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location Carla Merklin

Created by: Kms:

8273

Hr:

8399

Status:

Serial Number:

Business Unit:

Start Date: **Stop Date:**

Transferred

CAT00D6TIMH700639 Machinery

8/24/2022 8/24/2022

Description	Quantity	Labor Type	Rate	Total
JOHN GIBERSON	7.00 RT	Shop Mech Rky	\$49.05	\$343.35
			Total Labor	\$343.35
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$343.35

Item ID	Description	Completed By	Reported Hours
63141	7858 - beit/DPF	John Giberson	7.00

34380

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

8273 8399

Status:

Serial Number:

Transferred CAT00D6TIMH700639

Business Unit:

Start Date:

Machinery 8/24/2022

Stop Date:

8/24/2022

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	4.00 RT	Shop Lube	\$41.17	\$164.68
			Total Labor	\$164.68
FILTER - ELEMENT (CAT) [1261813]	1.00 Each	-	\$69.92	\$69.92
FILTER [3967087]	1.00 Each	1	\$29.90	\$29.90
			Total Parts	\$99.82
			Total Equip	\$0.00
			Total Cost	\$264.50

Item ID	Description	Completed By	Reported Hours
60919	1000 Hour Service	Anthony Rodriguez	4.00

- * Change all filters.
- * Change engine oil.
- * Change transmission oil.
- * Change final drive oils.
 * Change winch oil (if applicable).
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Vork Order:	

35735

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

8273 8399 Status:

Serial Number:

Business Unit: Start Date:

Machinery 10/7/2022

CAT00D6TIMH700639

Transferred

Stop Date: 10/7/2022

Description	Quantity	Labor Type	Rate	Total
LEVI LOOMIS	1.00 RT	Shop Mech Field	\$59.34	\$59.34
NEIL FERRIS	2.00 RT	Shop Mech Field	\$59.34	\$118.68
			Total Labor	\$178.02
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$178.02

Item ID	Description	Completed By	Reported Hours
65908	7858 - check over	Carla Merklin	3.00

36944

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

68198

8273

7858 - rh outer door handle

8399

Status:

Serial Number:

Business Unit:

Start Date:

Brittinni Lockard

Stop Date:

Transferred CAT00D6TIMH700639

Machinery

11/14/2022 11/14/2022

0.50

Description	Quantity Labor Type	Rate	Total
DAVE HUNT	0.50 RT Shop Mech Field	\$59.34	\$29.67
		Total Labor	\$29.67
HANDLE[Custom]	1.00 Each	\$122.09	\$122.09
OUTER HANDLE ASSY [3366672]	1.00 Each	\$468.65	\$468.65
OUTER HANDLE ASSY [3366672]	1.00 Each	\$460.95	\$460.95
		Total Parts	\$1,051.69
		Total Equip	\$0.00
		Total Cost	\$1,081.36
Item ID Description	Completed By	Reported Hou	rs

37593

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms:

8273

Hr: 8399 Status:

Serial Number:

Transferred CAT00D6TIMH700639

Business Unit:

Machinery

Start Date: Stop Date:

12/1/2022 2/28/2023

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JOHN GIBERSON	53.25 RT	Shop Mech Rky	\$49.05	\$2,611.91
			Total Labor	\$2,611.91
CAM-LATCH - RAD COVER [2750571]	2.00 Each		\$4.44	\$8.88
ELEMENT AS-X 3375270 {0951678 oring is included} [5715253]	1.00 Each	ı	\$72.79	\$72.79
FILTER {320055862, P614476} [1127448]	1.00 Each	ı	\$18.94	\$18.94
FILTER - ELEMENT (CAT) [1261813]	1,00 Each		\$73.52	\$73.52
FILTER (CAT) [3261643]	1.00 Each		\$45.91	\$45.91
FILTER [3967087]	1.00 Each		\$37.98	\$37.98
FILTER FUEL SPIN-ON {1R1712} [1R0749]	2.00 Each		\$21.83	\$43.67
FILTER HYDRAULIC (HF6551) [4656504]	1.00 Each		\$64.14	\$64.14
LATCH ASSEMBLY[Custom]	2.00 Each		\$70.11	\$140.22
			Total Parts	\$506.04
			Total Equip	\$0.00
			Total Cost	\$3,117.95

Notes:

5474

500HR SERVICE - ENGINE OIL/FILTER, ENG AIR/ CAB AIR. NOT DONE - FUEL, TRANNY, HDY

change hyd oil and resample resample final drives

Item ID	Description	Completed By	Reported Hours
69415	7858 - final drives	John Giberson	53.25
70678	0500 Hour Service	John Giberson	0.00

- * Change engine oil.
 * Change all filters.
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
 * Sample all oils.

38184

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by: Kms:

Cody Brown

Hr:

8273 8399

Status:

Serial Number:

Transferred CAT00D6TIMH700639

Business Unit: Start Date:

Machinery

Stop Date:

12/26/2022 12/26/2022

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
CODY BROWN	4.00 RT	Shop Mech Rky	\$49.05	\$196.20
			Total Labor	\$196.20
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$196.20

Item ID	Description	Completed By	Reported Hours
70598	7858-repair to start	Carla Merklin	4,00
Work Order:	38411	Status:	Transferred
Equipment:	D6T LGP CAT DOZER (GPS) [7858]	Serial Number:	CAT00D6TIMH700639
Work Locatio	n: Current Equipment Location	Business Unit:	Machinery
Created by:	Matthew Gervais	Start Date:	1/8/2023
Kms:	8273	Stop Date:	1/8/2023
Hr:	8399	-	

Description	Quantity	Labor Type	Rate	Total
MATTHEW GERVAIS	2.00 RT	Shop Mech Field	\$59.34	\$118.68
			Total Labor	\$118.68
BULB - 24V, 70 W [H370]	2.00 Each		\$5.01	\$10.02
			Total Parts	\$10.02
			Total Equip	\$0.00
			Total Cost	\$128.70

Item ID	Description	Completed By	Reported Hours
71017	7858 get ready to go	Brittinni Lockard	2.00

38632

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

8273 8399

Status:

Serial Number:

Transferred CAT00D6TIMH700639

Business Unit:

Start Date:

Machinery 1/12/2023

Stop Date:

1/12/2023

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
LEVI LOOMIS	4.00 RT	Shop Mech Field	\$59.34	\$237.36
			Total Labor	\$237.36
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$237.36

Item ID Desc	ription	Completed By	Reported Hours
71278 7858	- RESAMPLE ENGINE OIL	Brittinni Lockard	4.00
Work Order:	39211	Status:	Transferred
Equipment:	D6T LGP CAT DOZER (GPS) [7858]	Serial Number:	CAT00D6TIMH700639
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	1/30/2023
Kms:	8273	Stop Date:	1/30/2023
Hr:	8399	·	

Description	Quantity	Labor Type	Rate	Total
JOHN GIBERSON	3.00 RT	Shop Mech Rky	\$49.05	\$147.15
			Total Labor	\$147.15
BULB - 24V, 70 W [H3-70]	2.00 Each		\$4.40	\$8.79
			Total Parts	\$8.79
			Total Equip	\$0.00
			Total Cost	\$155.94

Item ID	Description	Completed By	Reported Hours
72225	7858 - check over/finish fuel/ trany/hyd filters	John Giberson	3.00

39974

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

8273

Status:

Serial Number: Business Unit:

Transferred

CAT00D6TIMH700639

Machinery

Start Date:

2/27/2023 2/27/2023

Stop Date:

8399

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
TEVIN FERRIS	20.00 RT	Shop Mech Field	\$59.34	\$1,186.80
			Total Labor	\$1,186.80
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$1,186.80

Item ID	Description	Completed By	Reported Hours
73691	7858 - won't run	Brittinni Lockard	20,00
Work Order	40506	Status:	Transferred
Equipment:	D6T LGP CAT DOZER (GPS) [7858]	Serial Number:	CAT00D6TIMH700639
Work Locat	ion: Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	3/14/2023
Kms:	8273	Stop Date:	3/14/2023
Hr:	8399	•	• • • • •

Description	Quantity	Labor Type	Rate	Total
JOHN GIBERSON	17.00 RT	Shop Mech Rky	\$49.05	\$833.85
			Total Labor	\$833.85
BOLT - TRACK (D61) [6V1792]	5.00 Each	1	\$1.90	\$9.51
			Total Parts	\$9.51
			Total Equip	\$0.00
			Total Cost	\$843.36

Item ID	Description	Completed By	Reported Hours	
59117	SOB - HANDLE	Brittinni Lockard	0.00	
1 - 3366672 - HANDLE				
	7858 - REPAIRS	Brittinni Lockard	17,00	
74797 45931	7858 - REPAIRS SOB - GROMMET	Brittinni Lockard Brittinni Lockard	17.00	

41878

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Brian MacDonald

Kms: Hr:

8273 8399

Serial Number:

Transferred CAT00D6TIMH700639

Business Unit:

Machinery

Start Date: **Stop Date:**

Status:

4/27/2023 4/27/2023

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
BRIAN MACDONALD	2.00 RT	Shop Mech Field	\$59.34	\$118.68
TEVIN FERRIS	5.00 RT	Shop Mech Field	\$59.34	\$296.70
			Total Labor	\$415.38
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$415.38

Item ID De	scription	Completed By	Reported Hours
77224 785	8 check over	Brittinni Lockard	7.00
Work Order:	42980	Status:	Transferred
Equipment:	D6T LGP CAT DOZER (GPS) [7858]	Serial Number:	CAT00D6TIMH700639
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	6/5/2023
Kms:	8273	Stop Date:	6/5/2023
Hr:	8399	·	

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	2.00 RT	Shop Lube	\$41,17	\$82.34
			Total Labor	\$82.34
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$82.34

Item ID	Description	Completed By	Reported Hours
71328	0250 Hour Service	Brittinni Lockard	2.00

* Change engine oil.
* Change engine filters -- oil and air.
* Check all fluids,

* Complete grease.

* Sample engine oil.

43966

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms:

8273

Hr:

8399

Status:

Serial Number:

Transferred CAT00D6TIMH700639

Business Unit:

Machinery 7/5/2023

Start Date: Stop Date:

7/5/2023

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
NTHONY RODRIGUEZ	2.00 RT	Shop Lube	\$41.17	\$82.34
			Total Labor	\$82.34
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$82.34

Item ID	Description	Completed By	Reported Hours
80684	6000 Hour Service	Anthony Rodriguez	2.00

- * Change all filters.
- * Change engine oil.
- * Change transmission oil.
- * Change final drive oils.
- * Change winch oil (if applicable).
 * Change hydraulic oils.
- * Change coolant.
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order: **Equipment:**

44370

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Brittinni Lockard

Kms: Hr:

8399

8273

Status:

Serial Number:

Transferred CAT00D6TIMH700639

Business Unit:

Machinery

Start Date:

7/18/2023

Stop Date:

7/18/2023

Description	Quantity	Labor Type	Rate	Total
NEIL FERRIS	4.50 RT	Shop Mech Field	\$59.34	\$267.03
			Total Labor	\$267.03
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$267.03

Item ID	Description	Completed By	Reported Hours
81607	7858 - REMOVE EXHAUST, DPF	Brittinni Lockard	4.50

44481

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Kms: Hr:

8273 8399

Brittinni Lockard

Serial Number: Business Unit: Start Date:

Stop Date:

Status:

Transferred

CAT00D6TIMH700639 Machinery

7/21/2023 7/21/2023

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
MATTHEW GERVAIS	12.00 RT	Shop Mech Field	\$59.34	\$712.08
EVIN FERRIS	4.00 RT	Shop Mech Field	\$59.34	\$237.36
			Total Labor	\$949.44
SENSOR GP-PR 3756126[Custom]	1,00 Each	<u> </u>	(\$372.05)	(\$372.05)
SENSOR GP-PR[Custom]	1.00 Each	1	\$372,05	\$372.05
			Total Parts	\$0.00
			Total Equip	\$0.00
1			Total Cost	\$949.44

Item ID	Description	Completed By	Reported Hours
81761	7858 - PUMP PRESSURE SENSOR FAULT	Brittinni Lockard	16.00
Work Order:	45773	Status:	Transferred
Equipment:	D6T LGP CAT DOZER (GPS) [7858]	Serial Number:	CAT00D6TIMH700639
Work Locatio	n: Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	8/31/2023
Kms:	8273	Stop Date:	8/31/2023
Hr:	8399	·	

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	2.00 RT	Shop Lube	\$41.17	\$82.34
			Total Labor	\$82.34
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$82.34

Item ID	Description	Completed By	Reported Hours
82860	0250 Hour Service	Brittinni Lockard	2.00

^{*} Change engine oil.

* Change engine filters -- oil and air.

* Check all fluids.

^{*} Complete grease.

^{*} Sample engine oil.

46014

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Brittinni Lockard

Kms: Hr:

8273 8399

Status:

Serial Number:

Transferred CAT00D6TIMH700639

Business Unit: Start Date:

Machinery 9/8/2023

Stop Date:

9/8/2023

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
LLAN SUTHERLAND	7.00 RT	Shop Mech Field	\$59.34	\$415.38
			Total Labor	\$415.38
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$415.38

Item ID Desc	ription	Completed By	Reported Hours
84481 7858	- TRACK REPAIRS	Brittinni Lockard	7.00
Work Order:	47970	Status:	Transferred
Equipment:	D6T LGP CAT DOZER (GPS) [7858]	Serial Number:	CAT00D6TIMH700639
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	11/2/2023
Kms:	8273	Stop Date:	11/2/2023
Hr:	8399	-	•

Description	Quantity	Labor Type	Rate	Total
AARON SAMUELSON	4.50 RT	Shop Mech Field	\$59.34	\$267.03
			Total Labor	\$267.03
BEARING - SPHERICAL PLAIN {9M1328, SBB-32} [GEZ50ES2RS]	2.00 Each		\$43.42	\$86.84
BEARING - SPHERICALPLAIN {SBB40, SBB-40, 7J1309} [GEZ63ES2RS]	2.00 Each	1	\$85,68	\$171.36
BEARING [1600305]	2.00 Each	1	\$171.07	\$342.14
SNAP RING {1K6985} [N13000315]	4,00 Each	1	\$14.97	\$59.88
SNAP RING {1S3311} [N13000400]	2.00 Each	1	\$27.55	\$55.10
			Total Parts	\$715.32
			Total Equip	\$0.00
			Total Cost	\$982.35

Item ID	Description	Completed By	Reported Hours	
88342	7858 - BLADE CYLINDER BUSHINGS, REPLACE BATTERY	Brittinni Lockard	4.50	
-		Ditaini Eockara	4.50	

48790

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Created by:

Brittinni Lockard

Kms: 8273 Hr: 8399

Status:

Serial Number:

Business Unit:

Start Date: **Stop Date:**

Transferred

CAT00D6TIMH700639

Machinery

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
	-	Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$0.00

Item ID D	Description	Completed By	Reported Hours
89794 7	858 - FINNING REPAIR FOR FUEL DILUTION	Brittinni Lockard	0.00
Work Order:	49339	Status:	Transferred
Equipment:	D6T LGP CAT DOZER (GPS) [7858]	Serial Number:	CAT00D6TIMH700639
Work Location	: Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	12/14/2023
Kms:	8273	Stop Date:	12/14/2023
Hr:	8399	·	

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	4.00 RT	Shop Lube	\$41,17	\$164.68
			Total Labor	\$164.68
CORE ITEM - BATTERY GROUP 4D 12V 1050CCA (MNC:MS4D1250M, BT4DP101EXCH) [904D]	2.00 Each	\$310.76	\$621,53	
			Total Parts	\$621.53
			Total Equip	\$0.00
			Total Cost	\$786.21

Item ID	Description	Completed By	Reported Hours
78702	0500 Hour Service	Anthony Rodriguez	4.00

- * Change engine oil.
 * Change all filters.
 * Check pivot shaft oil.
 * Check equalizer bar oil.
 * Check all fluids.
- * Complete grease.
- * Sample all oils.

50181

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

8273 8399

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Transferred

CAT00D6TIMH700639

Machinery 1/22/2024

1/22/2024

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	7.00 RT	Shop Mech Field	\$59.34	\$415.38
TEVIN FERRIS	9.50 RT	Shop Mech Field	\$59.34	\$563.73
			Total Labor	\$979.11
BOLT - 2 1/4 X 5/8 USE WITH 2S5658 AND 7H3607 [6V0937]	52.00 Each	<u> </u>	\$1.71	\$88.69
CLAMP-BAND [3460334]	1.00 Each	1	\$49.26	\$49.26
CORNER BIT [9W8874]	1.00 Each	1	\$77.27	\$77.27
CORNER BIT [9W8874]	1.00 Each	l	\$77.27	\$77.27
CORNER BIT [9W8875]	1.00 Each	1	\$77.27	\$77.27
CORNER BIT [9W8875]	1.00 Each	1	\$77.27	\$77.27
NUT - HEX [7H3607]	52.00 Each	1	\$1.77	\$92.11
WASHER [2S5658]	52.00 Each		\$1.48	\$76.96
			Total Parts	\$616.10
			Total Equip	\$0.00
			Total Cost	\$1,595.21

Item ID	Description	Completed By	Reported Hours
92065	7858 - checkover	Brittinni Lockard	16.50

50925

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Clayton Michelson

Kms: Hr:

8273 8399

Status:

Serial Number:

Transferred CAT00D6TIMH700639

Business Unit:

Start Date:

Machinery 2/11/2024

Stop Date:

2/11/2024

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
CLAYTON MICHELSON	5.50 RT	Shop Weld Field	\$55.71	\$306.41
			Total Labor	\$306.41
			Total Parts	\$0.00
			Total Equip	\$0.00
		<u> </u>	Total Cost	\$306.41

Item ID	Description	Completed By	Reported Hours
93251	7858 corking	Carla Merklin	5,50
Work Orde	r: 51951	Status:	Transferred
Equipment	D6T LGP CAT DOZER (GPS) [7858	Serial Number:	CAT00D6TIMH700639
Work Locat	tion:	Business Unit:	Machinery
Created by	Brittinni Lockard	Start Date:	·
Kms:	8273	Stop Date:	
Hr:	8399	·	

Description	Quantity Labor Type	Rate	Total
	Tota	l Labor	\$0.00
	Tota	l Parts	\$0.00
	Tota	l Equip	\$0.00
	Tota	el Cost	\$0.00

Item ID	Description	Completed By	Reported Hours
05450			
95450	7858 - FINNING REPAIR FOR INJECTOR CODE	Brittinni Lockard	0.00

52403

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

8273

8399

Status:

Serial Number:

Transferred CAT00D6TIMH700639

Business Unit:

Machinery

Start Date: **Stop Date:**

3/24/2024 3/24/2024

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	2.00 RT	Shop Lube	\$41.17	\$82.34
			Total Labor	\$82.34
			Total Parts	\$0.00
			Total Equip	\$0.00
	·		Total Cost	\$82,34

Item ID	Description	Completed By	Reported Hours
90775	0250 Hour Service	Carla Merklin	2.00

* Change engine oil.

- * Change engine filters -- oil and air.
- * Check all fluids.
- * Complete grease.
- * Sample engine oil.

Work Order: Equipment:

52684

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

8273 8399

Status:

Serial Number:

Closed

Business Unit:

CAT00D6TIMH700639 Machinery

Start Date:

4/18/2024 4/18/2024

Stop Date:

Description	Quantity	Labor Type	Rate	Total
HERMANN KUKOWSKI	3.50 RT	Shop Mech Field	\$59.34	\$207.69
			Total Labor	\$207.69
SERPENTINE BELT [3493353]	1.00 Each		\$157.21	\$157.21
TRACK BOLT [9S1838]	4.00 Each		\$5.52	\$22,07
			Total Parts	\$179.28
			Total Equip	\$0.00
			Total Cost	\$386.97

Item ID	Description	Completed By	Reported Hours
96744	7858 - BLOWN BELT	Brittinni Lockard	3.50
97751	7858 - BLOWN BELT	Brittinni Lockard	0.00

52721

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms:

8273

Hr: 8399 Status:

Serial Number:

Closed

Business Unit:

Start Date:

Machinery 4/3/2024

CAT00D6TIMH700639

Stop Date:

4/3/2024

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
MATTHEW GERVAIS	6.50 RT	Shop Mech Field	\$59.34	\$385.71
			Total Labor	\$385.71
BOLT - 2 1/4 X 5/8 USE WITH 2S5658 AND 7H3607 [6V0937]	5.00 Each		\$1.73	\$8.65
NUT - HEX [7H3607]	5.00 Each	1	\$1.78	\$8.88
Washer [255658]	5.00 Each	1	\$1.67	\$8.35
			Total Parts	\$25.87
			Total Equip	\$0.00
			Total Cost	\$411.58

Item ID	Description	Completed By	Reported Hours
96835	7858 - REPLACE LH TRACK MASTER PAD BOLTS	Carla Merklin	6.50
Work Order	53809	Status:	Closed
Equipment:	D6T LGP CAT DOZER (GPS) [7858]	Serial Number:	CAT00D6TIMH700639
Work Locati	on: Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	5/3/2024
Kms:	8273	Stop Date:	5/3/2024
Hr:	8399	·	

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	7.50 RT	Shop Lube	\$41.17	\$308.78
			Total Labor	\$308.78
		·····	Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$308.78

Item ID	Description	Completed By	Reported Hours
98324	1000 Hour Service	Brittinni Lockard	7,50

- * Change all filters.
- * Change engine oil.
 * Change transmission oil.
- * Change final drive oils.
 * Change winch oil (if applicable).
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

55504

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Brittinni Lockard

Kms: Hr:

8273 8399 Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Closed

CAT00D6TIMH700639

Machinery

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
AARON SAMUELSON	13.00 RT	Shop Mech Field	\$59.34	\$771.42
JASON HOLLINGSWORTH	2.50 RT	Shop Mech Field	\$59.34	\$148.35
			Total Labor	\$919.77
BOLT - TRACK (D61) [6V1792]	12,00 Each	1	\$2.85	\$34.14
NUT [1S1860]	12.00 Each	1	\$1.08	\$12.96
			Total Parts	\$47.10
			Total Equip	\$0.00
	· · · · · · · · · · · · · · · · · · ·		Total Cost	\$966.87

Item ID	Description	Completed By	Reported Hours
101621	7858 - CHECK OVER LEAKS	Andrew Matus	11.50
101534	7858 Checkover	Andrew Matus	4,00
Work Orde	er: 56516	Status:	Closed

Equipment: Work Location: D6T LGP CAT DOZER (GPS) [7858]

Created by:

MAIN YARD Jeremy Detema

Kms:

8273

Hr: 8399 **Serial Number:**

Business Unit:

Start Date: Stop Date:

CAT00D6TIMH700639

Machinery

Description	Quantity	Labor Type	Rate	Total
AARON SAMUELSON	5.00 RT	Shop Mech Field	\$59.34	\$296.70
			Total Labor	\$296.70
FILTER FUEL {CAT: 4161225, 1R0755, 4227587} [1R0749]	2.00 Each	1	\$24.76	\$49.52
FILTER FUEL {CAT: 4161225, 1R0755, 4227587} [1R0749]	2.00 Each	1	\$25.63	\$51.26
FILTER FUEL {DON: P551110 FLG: FS20007} [3261643]	1.00 Each	1	\$50.88	\$50.88
			Total Parts	\$151.66
			Total Equip	\$0.00
			Total Cost	\$448.36

Item ID	Description	Completed By	Reported Hours
103400	Aaron took fuel filters	Carla Merklin	5.00

56861

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Brittinni Lockard

Kms: Hr:

8273 8399

Status:

Business Unit:

Closed CAT00D6TIMH700639

Serial Number:

Machinery

Start Date: Stop Date:

8/9/2024 8/9/2024

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	1.00 RT	Shop Lube	\$41.17	\$41.17
			Total Labor	\$41.17
		_	Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$41.17

Item ID	Description	Completed By	Reported Hours
102133	0250 Hour Service	Anthony Rodriquez	1,00

* Change engine oil.

* Change engine filters -- oil and air.

* Check all fluids.

* Complete grease.

* Sample engine oil.

Work Order:

57394

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Kevin Gordan

Kms: Hr:

8273 8399 Status:

Serial Number:

Business Unit: Start Date:

Stop Date:

Machinery

CAT00D6TIMH700639

Closed

Description	Quantity	Labor Type	Rate	Total
AARON SAMUELSON	5.00 RT	Shop Mech Field	\$59.34	\$296.70
			Total Labor	\$296.70
BOLT - TRACK (D61) [6V1792]	8.00 Each)	\$3.06	\$24.48
NUT [1S1860]	8.00 Each	1	\$1.67	\$13.36
			Total Parts	\$37.84
			Total Equip	\$0.00
			Total Cost	\$334.54
Item ID Description		Completed By	Donardad Haus	

Description	Completed By	Reported Hours
7858-CHECK OVER-08/23/24	Carla Merklin	5.00
	7858-CHECK OVER-08/23/24	Completed by

59871

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

8273 8399

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Closed

CAT00D6TIMH700639

Machinery

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
AARON SAMUELSON	16.00 RT Shop Mech Field	\$59.34	\$949.44
		Total Labor	\$949.44
BEARING - SPHERICAL PLAIN {9M1328, SBB-32} [GEZ50ES2RS]	4.00 Each	\$44.65	\$178.60
BEARING - SPHERICALPLAIN {SBB40, SBB-40, 7J1309} BAIL [GEZ63ES2RS]	4.00 Each	\$85,68	\$342.72
BEARING {5107300, 1600305 } [GEG60ES2RS]	2.00 Each	\$89.02	\$178.04
PIN - PITCH LINK AND ANGLE BLADE {5040478} [4680944]	1.00 Each	\$231.46	\$231.46
PIN - TILT [1044817]	1.00 Each	\$118.32	\$118.32
PIN [2826604]	2.00 Each	\$166.84	\$333.68
		Total Parts	\$1,382.82
		Total Equip	\$0.00
		Total Cost	\$2,332.26

Item ID	Description	Completed By	Reported Hours
109444	7858 - blade bushings/pin repair / leak	Carla Merklin	16.00
Work Order:	60755	Status:	Closed
Equipment:	D6T LGP CAT DOZER (GPS) [7858]	Serial Number:	CAT00D6TIMH700639
Work Locatio	on: Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	
Kms:	8273	Stop Date:	
Hr:	8399	•	

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	13,50 RT	Shop Lube	\$41.17	\$555.80
			Total Labor	\$555.80
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$555.80

Item ID	Description	Completed By	Reported Hours

* Change engine oil.
* Change all filters.
* Check pivot shaft oil.
* Check equalizer bar oil.
* Check all fluids.

* Complete grease.

* Sample all oils.

Work Order:

60921

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

8273

8399

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Closed

CAT00D6TIMH700639

Machinery

Description	Quantity	Labor Type	Rate	Total
AARON SAMUELSON	10.50 RT	Shop Mech Field	\$59.34	\$623.07
			Total Labor	\$623.07
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$623.07

Item ID	Description	Completed By	Reported Hours
111294	7858 cutting edges	Carla Merklin	10.50

61947

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Brittinni Lockard

Kms: Hr: 8273 8399 Status:

Serial Number: Business Unit:

Closed CAT00D6TIMH700639

Machinery 12/13/2024

Start Date: Stop Date:

12/13/2024

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	5.00 RT	Shop Mech Field	\$59.34	\$296.70
BARTLEY WEST	13.00 RT	Shop Weld Field	\$55.71	\$724.23
HERMANN KUKOWSKI	2.50 RT	Shop Mech Field	\$59.34	\$148.35
KALE HEMPHILL	60.00 RT	Shop Mech Field	\$59.34	\$3,560.40
KENDRICK ROBINSON	12.50 RT	Shop Mech Rky	\$49.05	\$613.13
MATTHEW GERVAIS	3.50 RT	Shop Mech Field	\$59.34	\$207.69
			Total Labor	\$5,550.50
BEARING {5107300, 1600305 } [GEG60ES2RS]	2.00 Each		\$89.02	\$178.04
BOLT - 2 1/4 X 5/8 USE WITH 2S5658 AND 7H3607 [6V0937]	50.00 Each	ı	\$1.67	\$83.59
BOLT - 2 1/4 X 5/8 USE WITH 2S5658 AND 7H3607 [6V0937]	50.00 Each	1	\$1.32	\$66.00
CHECK VALVE WASHER FLUID {AT361113} [4449544]	1.00 Each	1	\$13.08	\$13.08
CUTTING EDGE WASHER 3/4" [5P8248]	6.00 Each	l	\$0.60	\$3.60
CYLINDER SEAL KIT RIPPER [5396777]	1.00 Each	1	\$308.26	\$308.26
HD SEGMENT [CR5515-27AM]	2.00 Each	1	\$295.13	\$590.26
IDLER A [1514587]	4.00 Each		\$923.51	\$3,694.04
LOCKNUT [4564486]	1.00 Each		\$124.05	\$124.05
LOCKNUT 4564486[Custom]	1.00 Each		(\$124.05)	(\$124.05)
NUT - HEX [7H3607]	50,00 Each		\$1.69	\$84.40
NUT - HEX [7H3607]	50.00 Each		\$1,34	\$67.00
SCREW - M20X2.5X140MM [6V9167]	16.00 Each		\$5.60	\$89.60
SPHERICAL PLAIN BEARING (8T0333, AT128773) PITCH LINK [GE50ES2RS]	2.00 Each		\$56.69	\$113.38
TILT CYL SEAL KIT MH7 **SEE NOTES** [6PIDHER00001]	1.00 Each		\$213.92	\$213.92
WASHER [2S5658]	50.00 Each		\$1.52	\$75.87
WASHER [2S5658]	50,00 Each		\$0.76	\$38.00
			Total Parts	\$5,619.04
			Total Equip	\$0,00
			Total Cost	\$11,169.54

Notes: REPLACE 6 BROKEN TRACK PADS

Item ID	Description	Completed By	Reported Hours
74293	7858 - Replace RH track pad (missing). Replace LH track pad (bent).	Brittinni Lockard	96.50
Replace I	RH track pad (missing). Replace LH track pad (bent),		

62562

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Nathan Sak

Kms: Hr:

8273 8399 Status:

Serial Number:

Closed CAT00D6TIMH700639

Business Unit:

Start Date:

Machinery 1/9/2025

Stop Date:

1/9/2025

Work Order Cost Summary

Description	Quantity La	abor Type	Rate	Total
NATHAN SAK	3.50 RT SI	op Tire Tech	\$36.33	\$127.16
			Total Labor	\$127.16
ROLLER GP - CA [2355974]	2.00 Each	-	\$414.50	\$829.00
			Total Parts	\$829.00
			Total Equip	\$0.00
			Total Cost	\$956.16

Item ID Descri	ption	Completed By	Reported Hours
114502 Underc	arriage Work	Nathan Sak	3.50
Work Order:	62612	Status:	Closed
Equipment:	D6T LGP CAT DOZER (GPS) [7858]	Serial Number:	CAT00D6TIMH700639
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Nathan Sak	Start Date:	1/10/2025
Kms:	8273	Stop Date:	1/10/2025
Hr:	8399		

Description	Quantity	Labor Type	Rate	Total
NATHAN SAK	4.00 RT	Shop Tire Tech	\$36.33	\$145.32
			Total Labor	\$145.32
			Total Parts	\$0.00
			Total Equip	\$0.00
L			Total Cost	\$145.32

tem ID	Description	Completed By	Reported Hours
14567	Undercarriage Work	Nathan Sak	4.00

63130

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

8273

8399

Status:

Serial Number:

CAT00D6TIMH700639

Closed

Business Unit:

Start Date:

Stop Date:

Machinery 1/29/2025

1/29/2025

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	5.00 RT	Shop Lube	\$41.17	\$205.85
			Total Labor	\$205.85
FILTER FUEL {CAT: 4161225, 4227587} [1R0749]	1.00 Each		\$24.55	\$24,55
FILTER HYDRAULIC {DON: P165332 FLG: HF6551} [4656504]	1.00 Each	ı	\$70.30	\$70.30
			Total Parts	\$94.85
			Total Equip	\$0.00
			Total Cost	\$300.70

Item ID	Description	Completed By	Reported Hours
113527	1000 Hour Service	Carla Merklin	5.00

- * Change all filters.
 * Change engine oil.
 * Change transmission oil.
 * Change final drive oils.
 * Change winch oil (if applicable).
- * Check pivot shaft oil.
 * Check equalizer bar oil.
 * Check all fluids.
- * Complete grease.
 * Sample all oils.

64945

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location: Created by:

Current Equipment Location

Kms:

Randy Wearmouth 8273

Hr: 8399 Status:

Serial Number:

Closed CAT00D6TIMH700639

Business Unit: Start Date:

Machinery 3/17/2025

Stop Date:

3/17/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	5.00 RT	Shop Mech Field	\$59.34	\$296.70
			Total Labor	\$296.70
13" WIPER BLADE {60131, 330 mm} [20131]	3.00 Each	· · · · · · · · · · · · · · · · · · ·	\$5.55	\$16.65
15" WIPER BLADE [20151]	1.00 Each		\$5.55	\$5.55
BEARING - SPHERICAL PLAIN {9M1328, SBB-32} [GEZ50ES2RS]	2.00 Each		\$53.81	\$107.62
BEARING - SPHERICALPLAIN {SBB40, SBB-40, 7J1309} BAIL [GEZ63ES2RS]	1.00 Each		\$85.68	\$85.68
BEARING [2582305]	2.00 Each		\$35.73	\$71.46
BEARING {5107300, 1600305 } [GEG60ES2RS]	1.00 Each		\$91.46	\$91.46
BULB - 24V, 70 W {121-H3-4} [H370]	3.00 Each		\$5.28	\$15.83
CORNER BIT [9W8874]	1.00 Each		\$72.76	\$72.76
CORNER BIT [9W8875]	1.00 Each		\$72.76	\$72.76
CYL SEAL KIT MH7 **SEE NOTES** [6PIDHER00001]	1.00 Each		\$213.92	\$213.92
PIN [1708592]	2.00 Each		\$112.19	\$224.38
RETAINER [2173655N]	4.00 Each		\$32.16	\$128.64
SEAL FINAL DRIVE [9H3360]	2.00 Each		\$34.70	\$69.40
SEAL- LIP TYP FINAL DRIVE {4194175} [2694739]	2.00 Each		. \$33.53	\$67.06
SERPENTINE BELT [3493353]	1.00 Each		\$163.56	\$163.56
STARTER GASKET (CAT) [4H7869]	1.00 Each		\$6.46	\$6.46
STARTER ORING [8C3089]	1.00 Each		\$34.02	\$34.02
WASHER PUMP CAT [3399915]	1.00 Each		\$72,01	\$72.01
			Total Parts	\$1,519.23
			Total Equip	\$0.00
			Total Cost	\$1,815.93

RYAN BERRY **Notes:**

Item ID	Description	Completed By	Reported Hours
_			
118829	7858- CHECK OVER	Carla Merklin	5.00

65451

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Created by:

Carla Merklin

Kms: 8273

Hr: 8399 Status:

Stop Date:

Serial Number:

Closed CAT00D6TIMH700639

Business Unit: Machinery **Start Date:**

Work Order Cost Summary

Description	Quantity Labor Type	Rate	Total
		Total Labor	\$0.00
		Total Parts	\$0.00
		Total Equip	\$0.00
		Total Cost	\$0.00

Notes: RYAN BERRY

Item ID	Description	Completed By	Reported Hours
119782	0250 Hour Service	Carla Merklin	0.00

- * Sample engine oil. * Check all fluids.
- * Complete grease.

Work Order:

67225

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Randy Wearmouth

Kms: Hr:

8399

8273

Serial Number:

Status:

Business Unit:

Start Date:

Stop Date:

Machinery 5/13/2025

CAT00D6TIMH700639

Closed

5/13/2025

Description	Quantity Labor Type	Rate	Total
KALEB GATES	1.00 RT Shop Mech Field	\$59.34	\$59.34
		Total Labor	\$59.34
FILTER AIR {DON: 5771435} [5771435]	1.00 Each	\$123.51	\$123.51
FLANGE BLANK #12 CODE 61 [NSFP12]	2.00 Each	\$3.92	\$7.83
FLANGE BLANK #12 CODE 62 [NSFPX12]	2,00 Each	\$10.44	\$20.88
		Total Parts	\$152.22
		Total Equip	\$0.00
		Total Cost	\$211.56

Item ID Description		Completed By	Reported Hours
122902	7858 - CHECK OVER	Brittinni Lockard	1.00

67241

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Kaleb Gates

Kms: Hr:

8273 8399

Status:

Serial Number:

Closed

Business Unit:

Start Date: Stop Date:

Machinery 5/13/2025

CAT00D6TIMH700639

5/13/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
BARTLEY WEST	23.00 RT	Shop Weld Field	\$55.71	\$1,281.33
JOHN GIBERSON	6.75 RT	Shop Mech Rky	\$49.05	\$331.09
KALEB GATES	6.00 RT	Shop Mech Field	\$59.34	\$356.04
			Total Labor	\$1,968.46
LATCH AS [3932304]	1.00 Each)	\$198.89	\$198.89
			Total Parts	\$198.89
			Total Equip	\$0.00
			Total Cost	\$2,167.35

Item ID [Description	Completed By	Reported Hours
122929 7	858 - check over / repairs	Brittinni Lockard	35,75
Work Order:	68867	Status:	Closed
Equipment:	D6T LGP CAT DOZER (GPS) [7858]	Serial Number:	CAT00D6TIMH700639
Work Location	: Current Equipment Location	Business Unit:	Machinery
Created by:	Nathan Sak	Start Date:	6/17/2025
Kms:	8273	Stop Date:	6/17/2025
Hr:	8399		

Description	Quantity	Labor Type	Rate	Total
NATHAN SAK	7.50 RT	Shop Tire Tech	\$36.33	\$272.48
			Total Labor	\$272.48
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$272.48

Item ID	Description	Completed By	Reported Hours
125587	Assemble Tracks	Nathan Sak	2.50
125586	Assemble Tracks	Nathan Sak	5,00

69029

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by: Kms:

Nathan Sak 8273

Hr:

Item ID

Kms:

Hr:

8399

8273

8399

Status:

Serial Number:

Closed

Machinery

Business Unit: Start Date:

6/19/2025

CAT00D6TIMH700639

Stop Date:

Completed By

Stop Date:

6/19/2025

Reported Hours

6/20/2025

Work Order Cost Summary

Description

Description	Quantity	Labor Type	Rate	Total
NATHAN SAK	9.50 RT	Shop Tire Tech	\$36.33	\$345.14
			Total Labor	\$345.14
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$345.14

25825	Assemble	e Tracks	Nathan Sak	4.50	
125824 Assemble Tracks		e Tracks	Nathan Sak	5.00	
Vork Orde	er:	69114	Status:	Closed	
quipmen	t:	D6T LGP CAT DOZER (GPS) [7858]	Serial Number:	CAT00D6TIMH700639	
Vork Loca	tion:	Current Equipment Location	Business Unit:	Machinery	
created by	<i>j</i> :	Nathan Sak	Start Date:	6/20/2025	

Description	Quantity	Labor Type	Rate	Total
NATHAN SAK	7.50 RT	Shop Tire Tech	\$36.33	\$272.48
			Total Labor	\$272.48
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$272.48

Item ID	Description	Completed By	Reported Hours
125933	Assemble Tracks	Nathan Sak	2.50
125932	Assemble Tracks	Nathan Sak	5,00

69204

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Nathan Sak

Kms:

8273

Hr: 8399 Status:

Serial Number:

CAT00D6TIMH700639

Closed

Business Unit: Start Date:

Machinery 6/23/2025

Stop Date:

6/23/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
NATHAN SAK	9.50 RT	Shop Tire Tech	\$36.33	\$345.14
			Total Labor	\$345.14
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$345.14

Item ID	Description	Completed By	Reported Hours	
126066	Assemble Tracks	Nathan Sak	4.50	
126065	Assemble Tracks	Nathan Sak	5.00	
Work Order:	69269	Status:	Closed	
Equipment:	D6T LGP CAT DOZER (GPS) [7858]	Serial Number:	CAT00D6TIMH700639	
Work Locatio	n: Current Equipment Location	Business Unit:	Machinery	
Created by:	Nathan Sak	Start Date:	6/24/2025	
Kms:	8273	Stop Date:	6/24/2025	
Hr:	8399			

Description	Quantity	Labor Type	Rate	Total
NATHAN SAK	8.50 RT	Shop Tire Tech	\$36.33	\$308.81
			Total Labor	\$308.81
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$308.81

Item ID	Description	Completed By	Reported Hours
126167	Assemble Tracks	Nathan Sak	5.00
126168	Assemble Tracks	Nathan Sak	3,50

71284

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Nathan Sak

Kms:

8273

Status:

Serial Number:

Closed CAT00D6TIMH700639

Business Unit:

Start Date:

Machinery

Stop Date:

8/5/2025 8/5/2025

Hr: 8399

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
NATHAN SAK	4.50 RT	Shop Tire Tech	\$36.33	\$163.49
			Total Labor	\$163.49
			Total Parts	\$0.00
	·····		Total Equip	\$0.00
			Total Cost	\$163.49

Item ID	Description	on	Completed By	Reported Hours
129652	Assemble 1	Fracks	Nathan Sak	4.50
Work Orde	er:	71919	Status:	Closed
Equipment	:	D6T LGP CAT DOZER (GPS) [7858]	Serial Number:	CAT00D6TIMH700639
Work Loca	tion:	Current Equipment Location	Business Unit:	Machinery
Created by	:	Brittinni Lockard	Start Date:	8/19/2025
Kms:		8273	Stop Date:	8/19/2025
Hr:		8399		

Description	Quantity	Labor Type	Rate	Total
JASON HOLLINGSWORTH	3,00 RT	Shop Mech Field	\$59.34	\$178.02
			Total Labor	\$178.02
			Total Parts	\$0.00
			Total Equip	\$0.00
L			Total Cost	\$178.02

Item ID	Description	Completed By	Reported Hours
130807	7858 - CHECK OVER	Brittinni Lockard	3.00

72991

Equipment:

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

8273

8399

Status:

Serial Number:

CAT00D6TIMH700639

Business Unit: Start Date:

Machinery 9/11/2025

Closed

Stop Date:

9/11/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	4.00 RT	Shop Lube	\$41.17	\$164.68
			Total Labor	\$164.68
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$164.68

Item ID	Description	Completed By	Reported Hours
130993	0500 Hour Service	Anthony Rodriguez	4.00

- * Change engine oil. * Change all filters.
- * Check pivot shaft oil.
- * Check equalizer bar oil.
- * Check all fluids.
 * Complete grease.
- * Sample all oils.

Work Order: **Equipment:**

73233

D6T LGP CAT DOZER (GPS) [7858]

Work Location:

Current Equipment Location

Created by:

Ryan Astrakahn

Kms: Hr:

8273 8399

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Scheduled

CAT00D6TIMH700639

Machinery 9/17/2025 9/17/2025

Item ID Description **Completed By Reported Hours** 133349 7858 - CHECKOVER 38.00